
PARTS &  
COMPONENTS

Specialist provider of 
DAIRY EFFLUENT EQUIPMENT
NZ 0800 464 393
nevadagroup.co.nz

AUS 1800 963 490
nevadagroup.com.au





Lay Flat Hoses........................................... 4

Lay Flat Hose Couplings......................... 5

Hose Couplings......................................... 6

Slurry Tanker Components................... 9

Vacuum Pumps...................................... 18

*Terms and conditions apply. Nevada Ltd endeavors to ensure that 
the information presented in this publication is accurate, current 
and correct. However, we do not accept any liability for errors, 
omissions, or outdated content. Nevada Ltd reserves the right to 
alter specifications, components, design and prices, at our  
discretion and without notice. Other conditions may apply.  
All material and information presented in this publication is 
copyright 2023 Nevada Ltd. All rights reserved.  
All prices exclude GST and freight. Q4-2023

Pi
ct

ur
ed

: 1
4,

70
0L

 T
an

de
m

 S
lu

rr
y 

Ta
nk

er
, T

ar
an

ak
i

CONTENTS

Specialist provider of 
DAIRY EFFLUENT EQUIPMENT



4 NZ 0800 464 393  |  nevadagroup.co.nz

LA
Y

 F
LA

T 
H

O
SE

S

OROFLEX PU Layflat Drag Hose 
Manufactured in Europe for agricultural and harsh industrial environments. Normally used as a drag hose on umbilical 
irrigation systems – offers outstanding abrasion resistance, chemical/hydrocarbon resistant and huge torsional strength  
for dragging. Standard hose length: 200m. (See couplings page 5)

CODE OUTSIDE 
DIAMETRE

WALL 
THICKNESS

WORKING 
PRESSURE

BURST 
PRESSURE

TENSILE 
STRENGTH

NOMINAL 
WEIGHT

BEND RADIUS 
AT WP

HOSHO130 
BLACK RUBBER 3” (76mm) 2.30mm 175psi 460psi 5,300Kg 0.68kg/m 1.45m

HOSHO226 4” (102mm) 3.50mm 245psi 605psi 13,100kg 1.30kg/m 1.75m

HOSHO229 5” (127mm) 3.70mm 200psi 505psi 18,000kg 1.70kg/m 1.90m

HOSHO221 6” (152mm) 3.80mm 175psi 435psi 25,000kg 2.05kg/m 2.00m



5 AUS 1800 963 490  |  nevadagroup.com.au

LA
Y

 F
LA

T 
H

O
SE

 C
O

U
P

LI
N

G
S

Storz Layflat Hose Couplings
Quality swivel layflat hose couplings.

CODE DESCRIPTION PRICE

ACFV101.53 Storz coupling for laylat hose - 100mm $360.23

ACFV125-127 Storz coupling for laylat hose - 125mm  $374.48

ACFV150-150 Storz coupling for laylat hose - 150mm $446.70

Storz Coupling Spanner
CODE DESCRIPTION PRICE

ACFVKEY100 Storz coupling spanner - 100mm $40.19

ACFVKEY150-125 Storz coupling spanner - 125-150mm $43.58

Storz Reducer Fittings
Reducer couplings for layflat hose systems.

CODE DESCRIPTION PRICE

ACFV125-100 Storz coupler reducer: 5"-4" (125mm-100mm) $578.40

ACFV150-100 Storz coupler reducer: 6"-4" (150mm-100mm) $704.80

ACFV150-125 Storz coupler reducer: 6"-5" (150mm-125mm) $1,161.50

Storz Coupler Adapter Female - BSPF
CODE DESCRIPTION PRICE

ACFV100-4 Storz coupler adapter female - 100mm (4") $112.88 

ACFV125-5 Storz coupler adapter female - 125mm (5") $212.49

ACFV150-6 Storz coupler adapter female - 150mm (6") $173.25



6 NZ 0800 464 393  |  nevadagroup.co.nz

 H
O

SE
 C

O
U

P
LI

N
G

S

Quick Attach Coupler
Heavy duty galvanised coupler with quick attach mechanism that is ideal  
for wagon-mounted waste handling systems (eg, slurry tankers).
Allows for quick connection of 6” diameter attachments.

CODE DESCRIPTION PRICE

ACVQC150 Quick attach hose coupler - 6” galvanised $942.35

Dallai Coupler: Male with Hose Tail
Galvanised steel coupler. Ideal for farm dairy effluent systems and  
wagon-mounted waste handling systems (eg, slurry tankers).

CODE DESCRIPTION PRICE

ACSM150X150 150x150mm Male hose tail (suits 150mm hose) $113.35

ACSM200X200 200x200mm Male hose tail (suits 200mm hose) $274.23

Dallai Coupler: Female with Hose Tail
Galvanised steel coupler. Ideal for farm dairy effluent systems and  
wagon-mounted waste handling systems (eg, slurry tankers).

CODE DESCRIPTION PRICE

ACSFM150X150 150x150mm Female hose tail (suits 150mm hose) $113.35

ACSFM200X200 200x200mm Female hose tail (suits 200mm hose) $279.60

Flanged Female Dallai
Galvanised coupling used on slurry tankers to  
mount spreader plates and side discharge nozzles.

CODE DESCRIPTION PRICE

ACV150FC Flanged female dallai - 6” $341.25

Dallai Coupling O-Ring
Rubber O-ring for ensuring a good seal between female and male Dallai couplers.

CODE DESCRIPTION PRICE

ACV150ORS Coupler O-ring - 6” $18.48

ACV200ORS Coupler O-ring - 8” $27.14

Bauer Type Pressure O-Ring
Rubber O-ring for ensuring a good seal between female and male Bauer couplers.

CODE DESCRIPTION PRICE

ACPO76 Coupler O-ring - 76mm $10.40 

ACPO108 Coupler O-ring - 108mm $11.60 

ACPO133 Coupler O-ring - 133mm $12.20 

ACPO159 Coupler O-ring - 159mm $13.60 

DALLAI 
COUPLINGS



7 AUS 1800 963 490  |  nevadagroup.com.au

 H
O

SE
 C

O
U

P
LI

N
G

S

Bauer Type Pressure Coupling: Male with Hose Tail
Galvanised steel pressure coupling suitable for most pressure hoses  
and pump situations. 

CODE DESCRIPTION PRICE

ACPM76X76 M-HT 76x76 (suits 76mm hose) $92.40

ACPM108X100 M-HT 108x100 (suits 100mm hose) $82.95

ACPM133X125 M-HT 133x125 (suits 120mm hose) $102.90

ACPM159X150 M-HT 159x150 (suits 150mm hose) $138.60

Bauer Type Pressure Coupling: Male with Male BSP
Galvanised steel pressure coupling suitable for most pressure hoses  
and pump situations. 

CODE DESCRIPTION PRICE

ACPMT76X21/2 M-TH 76x2½" BSP $49.35

ACPMT76X3 M-TH 76x3" BSP $64.05

ACPMT108X4 M-TH 108x4" BSP $81.90

ACPMT133X5 M-TH 133x5" BSP $117.60

ACPMT159X6 M-TH 159x6" BSP $149.10

Bauer Type Pressure Coupling: Female with Hose Tail
Galvanised steel pressure coupling suitable for most pressure hoses  
and pump situations.

CODE DESCRIPTION PRICE

ACPF76X76 FM-HT 76x76 (suits 76mm hose) $37.80

ACPF108X100 FM-HT 108x100 (suits 100mm hose) $45.15

ACPF133X125 FM-HT 133x125 (suits 120mm hose) $58.50

ACPF159X150 FM-HT 159x150 (suits 150mm hose) $72.45

Bauer Type Pressure Coupling: Female with Male BSP
Galvanised steel pressure coupling suitable for most pressure hoses  
and pump situations. Compatible with most Dallai couplings.

CODE DESCRIPTION PRICE

ACPFT76X21/2 FM-TH 76x2½" BSP $55.28

ACPFT73X3 FM-TH 76x3" BSP $52.01

ACPFT108X4 FM-TH 108x4" BSP $82.08

ACPFT133X5 FM-TH 133x5" BSP $112.69

ACPFT159X6 FM-TH 159x6" BSP $138.89

BAUER 
COUPLINGS



8 NZ 0800 464 393  |  nevadagroup.co.nz

SU
CT

IO
N

 H
O

SE
S

Complete Suction Hose with fittings
Medium duty PVC hose suitable for water, most chemicals and slurries and as delivery 
line. Cheaper option for suction lines on pumps and slurry tankers.

CODE DESCRIPTION PRICE

ACVHC150X3 6” x 3m c/w male and female fittings $873.50

ACVHC150X5 6” x 5m c/w male and female fittings $1,229.80

ACVHC200X3 8” x 3m c/w male and female fittings $1,865.43

ACVHC200X5 8” x 5m c/w male and female fittings $2,482.53

Rubber Suction/Discharge Hose
Hosing used for vacuum and pressure lines in effluent and industrial applications. 
Polyester yarn mesh, reinforced with galvanised wire coil.

CODE INTERNAL Ø WALL  
THICKNESS

WORKING  
PRESSURE PRICE

HOSHO103 2” (50mm) 6.5mm 10 bar $70.60

HOSHO104 2½” (64mm) 7.0mm 10 bar $87.20

HOSHO105 3” (76mm) 8.0mm 10 bar $113.36

ACVRH80 35/32” (80mm) 8.4mm 10 bar $142.63

HOSHO139 4” (100mm) 8.5mm 10 bar $161.03

HOSHO140 5” (127mm) 9.0mm 7 bar $240.03

HOSHO176 6” (150mm) 9.5mm 5 bar $252.00

Heavy Duty Suction Hose
Heavy duty PVC suction hose suitable for water, most chemicals and slurries  
plus can also be used as delivery line. Very hard wearing and still very flexible.  
Used for suction lines on large pumps and slurry tankers. 
Suitable for oil, rated to ≈90% vacuum and temperatures -10ºC to +60ºC

CODE DESCRIPTION PRICE

ACVH150X3 6" x 3m $477.74

ACVH150X5 6" x 5m $862.54

ACVH200X3 8" x 3m $1,187.70

ACVH200X5 8" x 5m $1,854.17

PVC Suction Hose
Medium duty flexi suction hose designed for most suction and delivery applications  
in conveying fresh and salt water, chemical solutions and abrasive solids or slurries.

CODE DESCRIPTION PRICE

HOSHO126 64mm Internal diameter (2 ½”) $47.20

HOSHO113 76mm Internal diameter (3”) $65.63

HOSHO168 100mm Internal diameter (4”) $75.60

HOSHO187 125mm Internal diameter (5”) $126.47



9

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Easel for Auto-Fill Suction Arm
HD galvanised filling station for use with auto-fill arms on slurry tankers.  
Large 500mm funnel allows for quick and easy alignment of  arm and  
ensures a good seal with 8” suction lines. Female coupler attaches to  
8” diameter hose allowing for rapid filling from dairy effluent ponds.

CODE DESCRIPTION PRICE

ACVEASELR Auto-fill easel – assembled: 8” diameter $3,091.55

Replacement Rubber Cone for Auto-Fill Easel
Rubber cone/funnel used on the top of auto-fill easel.

CODE DESCRIPTION PRICE

ACVACO Rubber easel cone: 8” $1,389.65

Rubber Flexi Joint/Bellow
Rubber flexi joint used on slurry tanker auto-fills.

CODE DESCRIPTION PRICE

ACVRB150 Rubber flexi joint: 6” (150mm) $202.13

ACVRB200 Rubber flexi joint: 8” (200mm) $306.08

Galvanised Suction Basket
Galvanised filter basket with hose tail prevents foreign objects  
from entering the suction hose and causing blockages.

CODE DESCRIPTION PRICE

ACVSB100 Suction hose filter basket: 4” $417.48

ACVSB125 Suction hose filter basket: 5” $515.25

ACVSB150 Suction hose filter basket: 6” $618.30

ACVSB200 Suction hose filter basket: 8” $721.35

Galvanised Spreader Plate for Slurry Tanker
For use on slurry tankers. Uniform spread pattern diameter of up to 14 metres 
(depending on tanker) means farm dairy effluent can be spread across paddocks at a low 
application rate. Attaches to 6” female coupler.

CODE DESCRIPTION PRICE

ACVSP01 Tanker spreader plate: 6” $398.48

 AUS 1800 963 490  |  nevadagroup.com.au



10 NZ 0800 464 393  |  nevadagroup.co.nz

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Side Discharge Nozzle
Side discharge spreader kits (for hillsides).

CODE DESCRIPTION PRICE

ACVHSK Side discharge nozzle: 6” $344.74

RainwaveTM Complete
RainWaveTM nutrient spreaders use low pressure combined with an  
oscilllating fan pattern to acheive a wider, more controlled spread. 

CODE DESCRIPTION PRICE

RWSINGLEKIT77 Rainwave complete kit 77mm $3,190.00

RainwaveTM Repair Kit
Rubber flexi joint used on slurry tanker auto-fills.

CODE DESCRIPTION PRICE

ACMRK Rainwave repair kit $112.77

ACMRTCSPR Rainwave top over centre spring $57.51

Rotating Joint for Suction Tube
Heavy duty cast steel rotating joint, suitable for auto-fill arms on slurry tankers.

CODE DESCRIPTION PRICE

ACVAF100 Rotating joint 4" $922.85

ACVAF150  Rotating joint 6"  $959.07

ACVAF200  Rotating joint 8" $1,219.83

Rigid Steel Suction Pipe
Galvanised suction pipe used as first section of suction line, going into the pond.

CODE DESCRIPTION PRICE

ACVHC150X3M Rigid steel suction pipe, straight (6” x 3m) $441.94

ACVHC150X4M Rigid steel suction pipe, straight (6” x 4m) $519.51 

ACVHC200X3M Rigid steel suction pipe, straight (8” x 3m) $751.25

ACVHC200X4M Rigid steel suction pipe, 45° bend (8” x 4m) $1,248.56



11 AUS 1800 963 490  |  nevadagroup.com.au

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Flanged Brass Piston Valve O-Ring
Replacement O-ring seals for flanged brass gate valves.

CODE DESCRIPTION PRICE

ACV170OR Gate valve O-ring 170mm diameter 6" $11.32

ACV225OR Gate valve O-ring 225mm diameter 8" $34.07

Flanged Brass Piston Valve
Quality Italian-made piston valve with O-ring gasket for inlet and outlet shut-off. Can be 
operated by hydraulics or manually with a hand lever. Ideal for use with wagon-mounted 
waste handling systems (eg, slurry tankers).

CODE DESCRIPTION PRICE

ACV150V Flanged brass piston valve with O-ring seal 6" $687.23

ACV200V Flanged brass piston valve with O-ring seal 8" $1,661.45

Flanged Brass Piston Valve Replacement Wedge
Replacement brass wedge suited for brass piston gate valves – for RIV Perla range.

CODE DESCRIPTION PRICE

ACV150WEDGE Brass 6" valve wedge $210.21

ACV200WEDGE Brass 8" valve wedge  $367.29

Brass Gate Valve Bell Housing
Replacement Brass Bell Housing suited to piston valves – to suit RIV Perla range.

CODE DESCRIPTION PRICE

ACVBH150 Bell housing, 6 bolt – suit 6” valves $608.95

ACVBH200 Bell housing, 6 bolt – suit 8” valves $638.95

Hand Lever for Gate Valve
Galvanised steel hand lever for the manual operation of piston/gate valves on slurry tankers.

CODE DESCRIPTION PRICE

ACVVH150 Gate valve hand lever $93.43



12 NZ 0800 464 393  |  nevadagroup.co.nz

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Primary Shut-Off Valve
Quality Italian-made shut-off valve for protection of vacuum pump.

CODE DESCRIPTION PRICE

ACV50V100 Prevents tankers from overfilling - 80mm $971.88

Primary Shut-Off Balls
Primary shut-off balls for inside slurry tanker. Suits Nevada tanks and other brands.

CODE DESCRIPTION PRICE

ACV50B120 120mm Diameter, weighted $70.48

ACV50B160 160mm Diameter, floating $81.30

Secondary Shut-Off Valve/Moisture Trap
Quality Italian-made shut-off valve prevents liquid from entering vacuum pumps.  
Ideal for use with wagon-mounted waste handling systems (eg, slurry tankers)  
where it works as the secondary shut-off. 1.5” diameter inlet/outlet.

CODE DESCRIPTION PRICE

ACVSV2 60mm Bent hosetail $589.40

ACVSV3 80mm Bent hosetail $664.58

ACVSGMB60 Replacement bowl to suit ACVSV3 $200.90

Large Moisture Trap
Protects vacuum pump from moisture entering pump, destroying vanes.

CODE DESCRIPTION PRICE

ACVSR1004 100mm and 80mm hose tail with 2” BSP drain $1,598.48

Oil Droppers
Oil droppers used on vacuum pumps or other applications requiring small  
regulated amounts of oil constantly.

CODE DESCRIPTION PRICE

(A) ACV2WOP 2-Way adjustable oiler $92.49

(B) ACVDAGRI Automatic oiler $86.02

(C) ACB5040200008 3-Way adjustable oiler $102.30

(D) ACB5040200002 1-Way adjustable oiler $54.07

A

C

B

D



13 AUS 1800 963 490  |  nevadagroup.com.au

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Pressure Relief Valve
Quality Italian-made pressure relief value for protection of vacuum tanks and pump. 
1.5” diameter. BSP thread. Adjustable Pressure (0.5-1.5 bar). Un-calibrated.

CODE DESCRIPTION PRICE

ACVVRV10 1 ½” BSP pressure relief $197.67

ACVVRV2 2” BSP pressure relief $199.67

Vacuum Relief Valve
Quality Italian-made vacuum relief valve for protection of vacuum tanks and pump.  
Un-calibrated.

CODE DESCRIPTION PRICE

ACVVRV38 1 ½” BSP vacuum relief $132.56

Vacuum/Pressure Relief Valve
Large pressure/vacuum relief valve. 6” flanged mounts for mounting on top of tanker.

CODE DESCRIPTION PRICE

ACVVPV5 Vacuum/pressure relief valve for pump  
overload protection 6” $796.95

Rubber Flange Gaskets
Rubber gasket used on components mounted on tankers with 6” or 8” 4-bolt flange.

CODE DESCRIPTION PRICE

ACVTAN2 Rubber gasket 3” $14.55

ACVRG1504B Rubber gasket 6” $27.72

ACVRG2004B Rubber gasket 8” $37.54

Glycerine Vacuum/Pressure Gauge
Italian-made glycerine pressure/vacuum gauge for pumps. Ideal for use with wagon-
mounted waste handling systems (eg, slurry tankers). Bottom entry. ½” BSP thread.

CODE DESCRIPTION PRICE

MISMI834 Glycerine vacuum/pressure guage $221.76



14 NZ 0800 464 393  |  nevadagroup.co.nz

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Hydraulic Ram, Double-Acting
Hydraulic double-acting ram used on brass  
gate valves for hydraulic activation of gate valve.

CODE DESCRIPTION PRICE

ACV150RAM Hydraulic ram, double-acting 6" $459.69

ACV200RAM Hydraulic ram, double-acting 8"  $644.49

Hydraulic Ram with Spring Return
Galvanised steel pressure coupling suitable for most pressure hoses  
and pump situations. Compatible with most Dallai couplings.

CODE DESCRIPTION PRICE

ACVSRV150 Single acting 6”, external spring $748.28

ACVSA150 Single acting hydraulic ram with internal spring 6” $580.95

ACVSA200 Single acting hydraulic ram with internal spring 8” $729.15

Hydraulic Foot Jack
Spring return, unpainted hydraulic foot jack.

CODE DESCRIPTION PRICE

ACVJSD65MM 4 tonne hydraulic foot jack, 65mm diameter spear $1,122.43

ACVJSD85MM 6 tonne hydraulic foot jack, 85mm diameter spear $1,236.70

Hydraulic Hand Pump
Manual Hydraulic Hand Pump designed for hydraulic parking jacks. 1/4” BSP Socket.

CODE DESCRIPTION PRICE

ACVHPMP Manual hydraulic pump, 3L capacity incl. lever $590.65

ACVHPMPL Hand lever suits manual hand pump $54.86

Auto-Fill Hydraulic Rams
Hydraulic cylinders used on Nevada auto-fill systems. May suit other brands. 1/4” BSP fittings.

CODE DESCRIPTION PRICE

(A) ACVAFRAM Double acting hydraulic ram for lifting/lowering auto-fill arm $843.89

(B) ACVRAFRAM Vacuum release hydraulic ram, double acting, 4 bolt flange mount $462.00

A

B



15 AUS 1800 963 490  |  nevadagroup.com.au

A
D

R
 A

X
LE

  C
O

M
P

O
N

EN
TS

Hydraulic Brake Rams
Single acting hydraulic with internal spring return.

CODE DESCRIPTION PRICE

ACVBRAM Hydraulic Brake Ram D.25x85                   $287.25

Steering Rams
Double acting hydraulic steering ram. As used on Nevada Tankers, may suit other brands.

CODE DESCRIPTION PRICE

ACVSTAXL ADR double acting hydraulic steering ram 110T            $1,243.83

Steering Shock Absorber
Galvanised steel pressure coupling suitable for most pressure hoses  
and pump situations. Compatible with most Dallai couplings.

CODE DESCRIPTION PRICE

(A) ACVSHOCKAX           Steering shock absorber $491.48

(B) ACVSAXSAB               H/Duty damper brackets $263.00

U-Bolts
High quality replacement U-bolts. Includes nuts and washers.

CODE DESCRIPTION PRICE

ACASUB24x24 Axle U-bolt - 111x240x24mm $306.98

ACASUB24x22 Axle U-bolt - 86x220x24mm $214.75

ACASUB24x20 Axle U-bolt - 102x220x24mm $202.43

A

B



16 NZ 0800 464 393  |  nevadagroup.co.nz

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Tank Level Indicator
(A) Plastic level indicator (sight glass) with O-ring. Ideal for wagon-mounted  
waste handling systems (eg, slurry tankers). Threads into 3” diameter socket.  
(B) Weld-on threaded socket for sight glass.

CODE DESCRIPTION PRICE

(A) ACV75SL Level indicator (sight glass), threaded with O-ring 3” $44.47

(B) AC50SL Level indicator (sight glass), threaded with - ring 2” $38.12

(C) ACVSGF75 Steel socket, weld-on for sight glass 3” $43.31

(D) ACSG100 4” Push in type glass $59.98

Tank Level Indicator Sight Tube
Level indicator used on larger tanks. Large transparent perspex tube to avoid blockages. 

CODE DESCRIPTION PRICE

ACVSGT100L Sight tube flange mount including top flexi pipe 6” $975.98

ACVST100 Sight tube only $265.17

Trough Cleaning Kit
Handy piece of kit that turns your effluent tanker into a trough cleaner. Mounts on any 
slurry tanker with a 6” flange. Complete with camlocks for easy attachment.

CODE DESCRIPTION PRICE

ACVEZYTC 5mx50mm Trough cleaner $733.25

Flotation Tyre
Agricultural flotation implement tyres. Ribbed pattern.

CODE DESCRIPTION PRICE

ACVTY550/60 Flotation tyre, 550/60-22.5 (16 ply) $2,483.25

ACVTY550/45 Flotation tyre, 550/45-22.5 (16 ply) $2,252.25

Swivel Towing Eye
Cast swivel towing eye c/w weld on sleeve.

CODE DESCRIPTION PRICE

(A) MISMI768 14 tonne towing capacity $357.50

(B) MISMI609 25 tonne towing capacity $351.68

(C) MISMI828 38 tonne towing capacity $550.13

(D) ACVFSTE 38 tonne flange mount towing eye $950.21

A,B C

D

A,B,C

D



17 AUS 1800 963 490  |  nevadagroup.com.au

SL
U

R
R

Y
 T

A
N

K
ER

 C
O

M
P

O
N

EN
TS

Vacuum Pump Oil
Motor oil specifically graded to suit Battioni and Jurop vacuum pumps.

CODE DESCRIPTION PRICE

OILOI345 5 litres $64.39

OILOI318/A 20 litres $349.00

Jurop Vacuum Pump Parts
PN/PNR Series Gasket Set

CODE DESCRIPTION

1892000000 PN84 M gasket set

1892000000 PN106 M gasket set

18920CZQB0 PN155 M gasket set

18920102E0 PNR-E 83M gasket set

18920027E0 PNR-E 124 M gasket set 

PN/PNR Series Vane Set

CODE DESCRIPTION

1601600800 PN84 M vane set

1601601000 PN106 M vane set

16016AB6B0 PN155 M vane set

1601605400 PNR-E 83M vane set

1601605600 PNR-E 124 M vane set

Battioni Vacuum Repair and Maintenance Kit
Replacement vanes, seals and gaskets for Battioni MEC and Agri Series 
vacuum pumps. Repair kits for other Battioni pump models also available.

CODE DESCRIPTION PRICE

ACVMEC6500RK Vacuum pump repair kit for MEC6500 $444.68

ACVMEC8000RK Vacuum pump repair kit for MEC8000 $497.18

ACVMEC9000RK Vacuum pump repair kit for MEC9000 $802.73

ACVMEC11000RK Vacuum pump repair kit for MEC11000 $912.45

ACVAGRI72RK Vacuum pump repair kit for Agri72 $1,059.00

ACBPB13500RK Vacuum pump repair kit for Ballast 13500 $1,329.00

ACVAGRI84RK Vacuum pump repair kit for Agri84 $1,694.00

ACBPB16000RK Vacuum pump repair kit for Ballast 16000 $1,582.00



18 NZ 0800 464 393  |  nevadagroup.co.nz

V
A

CU
U

M
 P

U
M

P
S

Battioni MEC 6500M
CODE DESCRIPTION PRICE

ACVMEC6500 7000L p/min Flow  
Air cooled 60% Duty Cycle. 600RPM.  
Forced Lubrication and 60mm Outlet

$4,746.19

Battioni MEC 8000
CODE DESCRIPTION PRICE

ACVMEC8000 8100L p/min Flow  
Air cooled 60% Duty Cycle. 600RPM.  
Forced Lubrication and 60mm Outlet

$5,079.70

Battioni MEC 9000M
CODE DESCRIPTION PRICE

ACVMEC9000 9000L p/min Flow  
Long Life Vanes. Air cooled 60% Duty Cycle. 540RPM. 
Forced Lubrication and 80mm H/Tails

$5,900.66

Battioni Ballast 13500M
CODE DESCRIPTION PRICE

ACBPB13500 13500L p/min Flow
Long life Vanes. Air Injection cooling giving  
70% Duty Cycle. Unique ‘Crash Protection System’.
Forced Lubrication and 80mm H/Tails

$8,876.64

Battioni Ballast 16000MA
CODE DESCRIPTION PRICE

ACPB16000 16000L p/min Flow 
Long Life Vanes. Air Injection cooling giving  
70% Duty Cycle. Unique ‘Crash Protection System’ 
Automatic Lubrication and 100mm H/Tails. 1000RPM

$8,674.51

Battioni Ballast 16500MA
CODE DESCRIPTION PRICE

ACPB16500 16800L p/min Flow 
Long Life Vanes. Air Injection cooling giving  
70% Duty Cycle. Unique ‘Crash Protection System’ 
Automatic Lubrication and 100mm H/Tails. 1000RPM

$8,674.51

Battioni Agri and MEC Series pumps are commercial grade pumps that are commonly used in agricultural applications.
These pumps feature self-adjusting vanes, built-in changeover valves for vacuum or pressure operation and positive 
lubrication supplied by a built-in gear pump and oil reservoir. They are designed primarily for use on slurry tankers, 
where the pump can be powered by a tractor PTO.



19 AUS 1800 963 490  |  nevadagroup.com.au

V
A

CU
U

M
 P

U
M

P
S

AM106

AM40

AM60

AM61
AME61
AMEC61

AM45
AM62

AM42

AM37

AM38/DX
AM38/SX

AM96

AM4

AM97

AM39

AM3

AM36

AM1
AME1
AMEC1
AME1/LA
AMEC1/LA

AM6

AM7
AME7
AMEC7
AM7/SP
AME7/SP
AMEC7/SP

AM21

AM23

AM24

AM2

AM18

AM25

AM30

AM26
AME26

AM12

AM27

AM28

AM94

AM117

AM95

AM108

AM32
AME32

AM33
AME33

AM109

AM117

AM116

AM117

AM5/M
AME5/M
AMEC5/M

AM116

AM116

AM18

AM18AM18

AM48

AM4

AM41

AM116

LUBR_OIL

AM115

AM48
AM109

ARTICLE CODE DESCRIPTION
AM1 4010101006 HOUSING - MEC 5000
AMEC1 4010101007 HOUSING - MEC 6500 LF
AMEC1/LA 4010101097 HOUSING - MEC 6500 LA
AME1 4010101008 HOUSING - MEC 8000 LF
AME1/LA 4010101099 HOUSING - MEC 8000 LA
AM2 4010301003 GEARBOX - MEC 5-6,5-8000/M
AM3 4010401003 FRONT AND BACK FLANGE - MEC 5-6,5-8000
AM4 4030108007 FLANGE GASKET - MEC 5-8000
AM6 5050707002 KEY - 6X6X25
AM7 4070113006 STANDARD BLADE - MEC 5000 300X46.5X6.5
AMEC7 4070113007 STANDARD BLADE - MEC 6500 370X46.5X6.5
AME7 4070113008 STANDARD BLADE - MEC 8000 450X46.5X6.5
AM7/SP 4070113123 LONG LIFE BLADE - MEC 5000 300X46.5X6.5
AMEC7/SP 4070113124 LONG LIFE BLADE - MEC 6500 370X46.5X6.5
AMEC7/SC 4070113180 STANDARD BLADE S.C.- MEC 6500 369X46.5X9.7
AM12 5012107010 BALL BEARING - 6307
AM18 5030300006 OIL SEAL - 48X62X8
AM21 5060605001 OIL PLUG - D 3/8” GAS
AM23 5050107018 SCREW - M 10X16 TE
AM24 5050207034 SECURITY WASHER D 10
AM25 5012107006 BALL BEARING - 6304
AM26 4020507002 GEAR WITH SHAFT - Z55-M2,5 MEC 2-5000
AME26 4020507003 GEAR WITH SHAFT - Z53-M2,5 MEC 6,5-8000
AM27 5030300005 OIL SEAL - 35X62X10
AM28 4030108006 GEARBOX COVER GASKET - MEC 2-8000
AM30 5060105004 OIL LEVEL PLUG - D 3/8” GAS
AM32 5050300001 SELF-LOCKING NUT - M 24X2X15
AME32 5050300002 SELF-LOCKING NUT - M 27X2X16
AM33 4020607002 PINION - Z21-M2,5 MEC 2-5000
AME33 4020607003 PINION - Z23-M2,5 MEC 6,5-8000
AM36 4010901003 EXHAUST ELBOW - MEC 5-8000

ARTICLE CODE DESCRIPTION
AM37 4030110003 MANIFOLD SIDE GASKET - MEC 5-8000
AM38/DX 4010501004 MANIFOLD - MEC 5-8000 DX
AM38/SX 4010501025 MANIFOLD - MEC 5-8000 SX
AM39 4030109005 MANIFOLD GASKET - MEC 5-8000
AM40 5030300007 OIL SEAL - 30X40X7 TC
AM41 5060410006 RUBBER BALL - D 70
AM42 4030109006 MANIFOLD COVER GASKET - MEC 5-8000
AM45 4012007002 SPRING - MEC 5-8000
AM48 5012107004 BALL BEARING - 6208
AM60 4010801007 HANDLE - MEC 2-8000
AM61 4010601075 MANIFOLD COVER - D 60 MEC 5-6500
AME61 4010601076 MANIFOLD COVER - D 80 MEC 8000
AMEC61 4010601016 MANIFOLD COVER - D 76 MEC 5-6,5-8000
AM62 4010701012 REVERSING GEAR - MEC 5-8000
AM94 4010601115 GEARBOX COVER  - MEC 2-8000 CE
AM95 4060505000 SHAFT GUARD - CE
AM96 5050906006 PLUG - M 16X1.5 - DIN 908
AM97 5050202007 ALUMINIUM WASHER - D 16X20X1,5
AM106 5060605009 OIL LEVEL ROD - 30X130 MM
AM108 5050107197 GALVANIZED SCREW - M 6X10 TEF
AM109 5050507011 CIRCLIP - D 80 I
AM115 5050903001 PLUG - M 10X1 - DIN 906
AM116 5050107109 SCREW - M 10X25 TEF - FL/ZIGR 8.8
AM117 5050107108 SCREW - M 8X25 TEF - FL/ZIGR 8.8
AM123 6010201006 REBUILD KIT - MEC 5000 STANDARD
AME123 6010201007 REBUILD KIT - MEC 6500 STANDARD
AMEC123 6010201008 REBUILD KIT - MEC 8000 STANDARD
AM123/SP 6010201019 REBUILD KIT - MEC 5000 LONG LIFE
AME123/SP 6010201020 REBUILD KIT - MEC 6500 LONG LIFE
AMEC123/SP 6010201021 REBUILD KIT - MEC 8000 LONG LIFE

MEC 6500, 8000/M



20 NZ 0800 464 393  |  nevadagroup.co.nz

V
A

CU
U

M
 P

U
M

P
S MEC 9000/M

ARTICLE CODE DESCRIPTION
CM1 4010101085 HOUSING - MEC 9000 LF
CM1/LA 4010101101 HOUSING - MEC 9000 LA
CME1 4010101086 HOUSING - MEC 11000 LF
CME1/LA 4010101104 HOUSING - MEC 11000 LA
CMEC1 4010101087 HOUSING - MEC 13500 LF
CMEC1/LA 4010101108 HOUSING - MEC 13500 LA
CM2 4010301028 GEARBOX  - MEC 9000-11000-13500/M
CM3 4010401061 FRONT & BACK FLANGE MEC 9000-11000-13500
CM4 4030108048 BODY GASKET MEC 9-11-13500
CM5/M10 4010220175 ROTOR - MEC 9000/M KEY 10
CME5/M10 4010220176 ROTOR - MEC 11000/M KEY 10
CMEC5/M10 4010220177 ROTOR - MEC 13500/M KEY 10
CM6 5050707032 KEY - 10X8X25
CM7 4070113192 LONG LIFE BLADE MEC 9000 300X60X6,5
CME7 4070113193 LONG LIFE BLADE MEC 11000 360X60X6,5
CMEC7 4070113194 LONG LIFE BLADE MEC 13500 460X60X6,5
CM8 5012207001 COMPRESSION & THRUST RING D80
CM9 5050507017 CIRCLIP - D 40 E - DIN 471
CM10 4010801043 HANDLE - MEC 9-13500
CM12 5012107010 BALL BEARING - 6307
CM13 5030210028 SEAL RING - OR 2337 85.34X1.78 LF PUMP
CM15 5040303015 BLACK PLUG - D 2” GAS
CM18 5030300041 OIL SEAL - 48X62X10 DCV
CM21 5060605001 OIL PLUG - D 3/8” GAS
CM23 5050107018 SCREW - M 10X16 TE
CM24 5050202002 ALUMINIUM WASHER - D 10X16X1,5
CM25 5012107006 BALL BEARING - 6304
CM26/M 4020507003 GEAR WITH SHAFT - Z53-M2,5 MEC 6,5-8000
CM26/MA 4020507012 GEAR WITH SHAFT MEC9-13500/MA Z43-M2,5
CM27 5030300005 OIL SEAL - 35X62X10
CM28 4030108049 GEARBOX COVER GASKET MEC 9-11-13500
CM29 5060605005 BLACK CAP - D 1”1/2 GAS
CM30 5060105004 OIL LEVEL PLUG - D 3/8” GAS
CM32 5050300002 SELF-LOCKING NUT - M 27X2X16
CM33/M10 4020607059 PINION MEC 9-11-13500/M Z23-M2,5
CM33/MA 4020607057 PINION MEC 9-11-13500/MA Z33-M2,5
CM34 5050207032 WASHER - D 10X28X4 - DIN 6340

ARTICLE CODE DESCRIPTION
CM39 4030109035 MANIFOLD GASKET MEC 9-11-13500
CM40 5030300015 OIL SEAL - 35X50X7 TC
CM41 5060410007 RUBBER BALL - D 90
CM45 4012007011 SPRING - MEC 9-11-13500
CM48 5012107004 BALL BEARING - 6208
CM57 4011707067 SPACER ROTOR M MEC 9-11-13500 M-G
CM58 5050207031 TEFLON WASHER REV.GEAR MEC 9-11-13500
CM59 5101800000 THERMO LABEL
CM61 4011501030 SUCTION ELBOW D 76 MEC 9-11-13500
CME61 4011501031 SUCTION ELBOW D 80 MEC 9-11-13500
CMEC61 4011501032 SUCTION ELBOW D 100 MEC 9-11-13500
CM62 4010701018 REVERSING GEAR MEC 9-13500
CM63 4010406017 FLANGE FOR ELBOW - STAR D80
CME63 4010406015 FLANGE FOR ELBOW - STAR D100
CM64 5030210008 SEAL RING - OR 189 STAR UL
CM65 4010601056 MANIFOLD COVER - MEC 9_13500-STAR-WPT/UL
CM66 5050107054 SCREW - M 10X35 TE
CM67 4010501026 MANIFOLD MEC 9000-11000-13500
CM68 4030109025 MANIFOLD COVER GASK-MEC 9_13500-STAR-WPT/UL
CM83 4010901018 REVOLVING ELBOW - MEC 9_13500-STAR D 76
CME83 4010901019 REVOLVING ELBOW - MEC 9_13500-STAR D 80
CMEC83 4010901020 REVOLVING ELBOW - MEC 9_13500-STAR D 100
CM94 4010601154 GEARBOX COVER - MEC 9-11-13500
CM95 4060505000 SHAFT GUARD - CE
CM96 5050906006 PLUG - D 16X1 DIN 908
CM97 5050202007 ALUMINIUM WASHER - D 16X20X1,5
CM106 5060100001 OIL LEVEL ROD - MM 18X55
CM108 5050107107 GALVANIZED SCREW - M 6X10 TEF
CM109 5050507011 CIRCLIP - D 80 I
CM116 5050107109 SCREW - M 10X25 TEF - FL/ZIGR 8.8
CM117 5050107108 SCREW - M 8X25 TEF - FL/ZIGR 8.8
CM121 4060505039 OIL LEVEL INDICATOR MEC 9000-11000-13500
CM127 5050903003 PLUG - D 1/8” DIN 906
CM128 5050903004 PLUG - M 10X1 WITH AIR RELEASING
CM122 6010201045 REBUILD KIT - MEC 9000 LONG LIFE
CME122 6010201046 REBUILD KIT - MEC 11000 LONG LIFE
CMEC122 6010201047 REBUILD KIT - MEC 13500 LONG LIFE



CB66

CB63
CBA63

CB83
CBA83
CBAL83

CB67

CB15

CB68

CB40
CB193

CB117
CB34

CB116
CB65

CB45

CB62

CB39 

CB48

CB3

CB96
CB97

CBA1
CBA1/LA
CBAL1
CBAL1/LA

CB106

CBA5/M10
CBAL5/M10

CB6CB4

CB2

CB18

CB8

CB25

CB109

CB26/M
CB26/MA

CB32

CB12

CB30

CB27

CB24

CB94

CB28

CB95

CB31

CB21 CB33/M
CB33/MA

CB108

CB48

CB23

CB116

CBA7
CBAL7

CB4

CB116

CB18

CB8
CB13

CB117

CB64

CB64

CB57

CB58

CB59CB121
CB128CB127

CB66

CB165

CB164

CB165

CB167

CB166CB166

CB165

CB162

CB161

CB166

CB9

CB194
CB195

CB197
CB196CB200

CB198
CB199

CB63
CBA63

CB83
CBA83
CBAL83

LUBR_OIL

21 AUS 1800 963 490  |  nevadagroup.com.au

V
A

CU
U

M
 P

U
M

P
SBALLAST 11000-13500/M-MA

ARTICLE CODE DESCRIPTION
CBA1 4010101130 HOUSING - BALLAST 11000 LF
CBA1/LA 4010101131 HOUSING - BALLAST 11000 LA
CBA1/LA/A 4010101190 HOUSING - BALLAST 11000 LA - ATEX
CBAL1 4010101132 HOUSING - BALLAST 13500 LF
CBAL1/LA 4010101133 HOUSING - BALLAST 13500 LA
CB2 4010301028 GEARBOX  - MEC 9000-11000-13500/M
CB3 4010401061 FRONT & BACK FLANGE MEC 9000-11000-13500
CB4 4030108048 BODY GASKET MEC 9-11-13500
CBA5/M10 4010220179 ROTOR - BALLAST 11000/M KEY 10
CBAL5/M10 4010220180 ROTOR - BALLAST 13500/M KEY 10
CB6 5050707032 KEY10X8X25
CB7 4070113192 LONG LIFE BLADE MEC 9000 300X60X6,5
CBA7 4070113193 LONG LIFE BLADE MEC 11000 370X60X6,5
CBAL7 4070113194 LONG LIFE BLADE MEC 13500 460X60X6,5
CB8 5012207001 COMPRESSION & THRUST RING D80
CB9 5050507017 CIRCLIP - D 40 E
CB12 5012107010 BALL BEARING - 6307
CB13 5030210028 SEAL RING - OR 2337 LF PUMP
CB15 5060605006 BLACK PLUG - D 2" GAS
CB18 5030300042 OIL SEAL - 48X62X10 DCV - FKM
CB21 5060605001 OIL PLUG - D 3/8" GAS
CB23 5050107018 SCREW - M 10X16 TE
CB24 5050202002 ALUMINIUM WASHER - D 10X16X1,5
CB25 5012107006 BALL BEARING - 6304
CB26/M 4020507003 GEAR WITH SHAFT - Z53-M2,5 MEC 6,5-8000
CB26/MA 4020507012 GEAR WITH SHAFT MEC9-13500/MA Z43-M2,5
CB27 5030300005 OIL SEAL - 35X62X10
CB28 4030108049 GEARBOX COVER GASKET MEC 9-11-13500
CB30 5060105004 OIL LEVEL PLUG - D 3/8" GAS
CB31 5050107168 SCREW - M 8X40 TEF
CB32 5050300002 SELF-LOCKING NUT - M 27X2X16
CB33/M 4020607059 PINION MEC 9-11-13500/M Z23-M2,5
CB33/MA 4020607057 PINION MEC 9-11-13500/MA Z33-M2,5
CB34 5050207032 WASHER - D 10X28X4 - DIN 6340
CB39 4030109035 MANIFOLD GASKET MEC 9-11-13500
CB40 5030300015 OIL SEAL - 35X50X7
CB45 4012007011 SPRING - MEC 9-11-13500
CB48 5012107004 BALL BEARING - 6208
CB57 4011707067 SPACER ROTOR M MEC 9000-11000-13500
CB58 5050207031 TEFLON WASHER REV.GEAR MEC 9-11-13500
CB59 5101800000 THERMO LABEL
CB62 4010701018 REVERSING GEAR MEC 9-13500
CB63 4010406017 FLANGE FOR ELBOW - STAR D80

ARTICLE CODE DESCRIPTION
CBA63 4010406015 FLANGE FOR ELBOW - STAR D100
CB64 5030210008 SEAL RING - OR 189 STAR UL
CB65 4010601056 MANIFOLD COVER - MEC 9_13500-STAR-WPT/UL
CB66 5050107054 SCREW - M 10X35 TE
CB67 4010501026 MANIFOLD MEC 9000-11000-13500
CB68 4030109025 MANIFOLD COVER GASK-MEC 9_13500-STAR-WPT
CB83 4010901018 REVOLVING ELBOW - MEC 9_13500-STAR D 76
CBA83 4010901019 REVOLVING ELBOW - MEC 9_13500-STAR D 80
CBAL83 4010901020 REVOLVING ELBOW - MEC 9_13500-STAR D 100
CB88/4 4010401063 FRONT FLANGE - MEC 9000-11000-13500/H G.4
CB94 4010601154 GEARBOX COVER - MEC 9-13500
CB95 4060505000 SHAFT GUARD - CE
CB96 5050906006 PLUG - D 16X1
CB97 5050202007 ALUMINIUM WASHER - D 16X20X1,5
CB103 5050107026 SCREW - M 10X25 TCEI
CB106 5060100001 OIL LEVEL ROD - MM 18X55
CB108 5050107107 GALVANIZED SCREW - M 6X10 TEF
CB109 5050507011 CIRCLIP - D 80 I
CB116 5050107109 SCREW - M 10X25 TEF - FL/ZIGR 8.8
CB117 5050107108 SCREW - M 8X25 TEF - FL/ZIGR 8.8
CB118 5030210063 SEAL RING - OR 177.47X2.62 MEC 9-13500/G
CB119 4010601153 FRONT COVER - MEC 5-13500/P AL
CB120/A 5090000123 TEMPERATURE SWITCH - POZZ. 1/2" GAS
CB121 4060505039 OIL LEVEL INDICATOR MEC 9000-11000-13500
CB127 5050903003 PLUG - D 1/8"
CB128 5050903004 PLUG - M 10X1 WITH AIR RELEASING
CB161 4030110028 GASKET BALLAST2 MEC 11000-13500
CB162 5050207002 SMOOTH WASHER - D 6
CB164 4010007057 DUCT BALLAST 11000-13500
CB165 5040303030 UNIDIRECTIONAL VALVE D 3/4" BALLAST
CB166 5080005004 AIR FILTER -  ONE-WAY VALVE 3/4"
CB167 5050107008 SCREW - M 6X16 TCEI
CB193 4010801043 HANDLE SQUARE CONNECTION
CB194 5050300016 SELF-LOCKING NUT - M 10X1 VARGAL
CB195 5050207008 BLANK WASHER - D 10X40
CB196 4012007015 SPRING FOR POPPET VALVE BALLAST-AIDA
CB197 4011707114 GUIDE FOR POPPET VALVE BALLAST-AIDA
CB198 4010401082 FLANGE SUPPORT CHECK VALVE - BALL9-13500
CB199 4010006026 POPPET VALVE - BALLAST16000/BALLAST AIDA
CB200 4030109060 POPPET V. LOCK GASKET - BALLAST 9-13500
CBA122/BAL 6010201049 REBUILD KIT - BALLAST 11000
CBAL122/BAL 6010201050 REBUILD KIT - BALLAST 13500



22 NZ 0800 464 393  |  nevadagroup.co.nz

V
A

CU
U

M
 P

U
M

P
S BALLAST 16000 M-MA

ARTICLE CODE DESCRIPTION
DM2 4010301032 GEARBOX – BALLAST 16000/M-MA
DM3 4010401074 FRONT & BACK FLANGE BALLAST 16000
DM4 5030210078 SEAL RING – OR 3101 257.8 X 2.62
DM8 5012207003 COMPRESSION & THRUST RING D.100
DM9 5030210079 SEAL RING – OR 2093
DM12 5012107050 BALL BEARING 6308
DM14 5012107049 ROLL BEARING NU309
DM18 5030300045 OIL SEAL – 60X75X10
DM19 5040303030 UNIDIRECTIONAL VALVE ¾" BALLAST
DM20 5080005004 AIR FILTER - ONE WAY VALVE ¾”
DM21 5060605001 OIL PLUG – D. 3/8” GAS
DM25 5012107051 BALL BEARING 6306
DM26/M 4020507015 GEAR WITH SHAFT BALLAST 16000/M Z58-M3
DM26/MA 4020507016 GEAR WITH SHAFT BALLAST 16000/MA Z47-M3
DM27 5030300014 OIL SEAL 40 X 62 X 10
DM28 4030108067 GASKET GEARBOX COVER BALLAST 16000
DM29 4010601187 LA PUMP SUPPORT BACK COVER
DM32 5050300003 SELF-LOCKING NUT – M30X2X25
DM33/M 4020607060 PINION BALLAST 16000/MZ23-M3
DM33/MA 4020607061 PINION BALLAST 16000/MA Z34-M3
DM35 4060505057 MANIFOLD FILTER CARTRIDGE BALLAST 16000
DM36 4010601179 FILTER COVER BALLAST 16000
DM38 5051206003 FEMALE EYEBOLT – M10 – CE GALVANISED
DM39 4030109056 MANIFOLD GASKET – BALLAST 16000
DM40 5030300015 OIL SEAL – 35 X 50 X 7
DM44 5051206004 MALE EYEBOLT – M12 – CE
DM45 4012007011 SPRING – MEC 9-11-13500
DM48 5012107052 BALL BEARING 6309

ARTICLE CODE DESCRIPTION
DM53 5030300031 OIL SEAL 45 X 62 X 10
DM57 4060505060 LUBRIC.PUMP GUARD BALLAST 16000
DM58 5050207031 TEFLON WASHER REV.GEAR MEC 9-11-13500
DM62 4010701021 REVERSING GEAR – BALLAST 16000
DM63 4010406017 FLANGE FOR ELBOW – D80
DME63 4010406015 FLANGE FOR ELBOW – D100
DM64 5030210008 SEAL RING – OR 189 STAR UL
DM65 4010601186 REVERSING GEAR COVER – BALLAST 16000
DM67 4010501033 MANIFOLD BALLAST 16000 FILTER PREDISPOSED
DM80 5030300016 OIL SEAL 65 X 85 X 10
DME83 4010901019 REVOLVING ELBOW BALLAST 16000 – D.80
DMEC83 4010901020 REVOLVING ELBOW BALLAST 16000 – D.100
DM89 5050507012 CIRCLIP – D.45E
DM91 4010006002 CONNECTOR JOINT – L.F.
DM118 5030210050 SEAL RING – OR4475 NBR
DM224 4012007015 SPRING FOR VALVE BALLAST-AIDA
DM225 4011707114 GUIDE FOR VALVE BALLAST-AIDA
DM226 4010006026 VALVE FOR BALLAST 16000
DM229 4010601180 GEARBOX COVER BALLAST 16000
DM236 5030210083 SEAL RING – OR3525
DM237 4010101180 HOUSING – BALLAST 16000
DM238 4010220223 ROTOR – BIG MEC 16000
DM240 4010501035 DIFFUSER BALLAST 16000
DM241 4030109055 DIFFUSER GASKET – BALLAST 16000
DM242 4010801043 HANDLE – MEC 9-13500
DM243/M-MA 4011907117 FRONT PIN BALLAST 16000/M-MA-6P
DM245 5040407006 STRAIGHT CONNECTOR – M/MA ¾” GAS
DM252 5050507029 CIRCLIP – D55E – DIN 471



23 AUS 1800 963 490  |  nevadagroup.com.au

45

55

52

49

60

51

134

45
49

C41

47

50

C52

41

43

34

42

44

53

20

20

21

22

10

8/A
8/B

25

12

20

11

9

26

23

24

7/A
7/B17

4

18

3 15

5

2

1/B

28

19 38
13

20

27 14

6
19

14

20

31

18

15

32

30 16

33

34

29

37

36

35

47

54
20

57

40

58

48
39

56
46

61137

139

126

138

130
133

132

131

135
136 V

A
CU

U
M

 P
U

M
P

SBALLAST 16500 M-MA

ARTICLE CODE DESCRIPTION
1/B 4010101209 HOUSING BALLAST 16500
2 4010220244 CONTINUOUS CASTING ROTOR MEC/BALLAST 16500
3 4010301032 GEARBOX - BALLAST 16000/M-MA
4 4010601180 GEARBOX COVER - BALLAST 16000/M-MA
5 4011907117 FRONT PIN BALLAST 16000/M-MA - 6P
6 4011907124 REAR PIN BALLAST 16000 - 6P
7 4020507015 GEAR WHIT SHAFT - BALLAST 16000/M Z58 - M3
8 4020607060 PINION - BALLAST 16000/M Z23-M3
9 4030108067 GASKET GEARBOX COVER - BALLAST 16000/M-MA
10 4060505018 SHAFT GUARD - GARDA-LEDRA CE
11 5012107009 BALL BEARING 6306
12 5012107011 BALL BEARING 6308
13 5012107012 BALL BEARING 6309
14 5012207003 COMPRESSION E THRUST RING Ø 100 - LMKAS 10
15 4030108070 FLANGE GASKET - KPS 550-670
16 4030108023 BACK COVER GASKET - WPT-KTS
17 5030300014 OIL SEAL - 40X62X10
18 5030300045 OIL SEAL - 60X75X10 DCP
19 5050107103 SCREW - M 10X50 TCEI 12.9 UNI5931
20 5050107109 SCREW - M 10X25 TEF - DIN 6921 ISO 8100
21 5050107197 GAVANIZED SCREW - M 6X10 TEF - DIN 6921
22 5060605011 OIL PLUG - D 3/8" GAS
23 5060105004 OIL LEVEL PLUG - D 3/8" GAS
24 5050300003 SELF-LOCKING NUT - M 30X2X25
25 5050906008 PLUG D 3/8" GAS - DIN 908 -
26 5050202008 ALUMINIUM WASHER - D 17X22X1,5
27 5050507028 CIRCLIP -D 100 I - DIN 472
28 5050707033 KEY - 12X8X36
29 4010401074 FRONT E BACK FLANGE BALLAST 16000-KPS
30 5012107067 ROLL BEARING NU 309
31 5050202007 ALUMINIUM WASHER - D 16X20X1,5
32 5050906006 PLUG - D 16x1.5 - DIN 908 -
33 4010601187 L.A. PUMP SUPPORT BACK COVER
34 5050107009 SCREW - M 8X20 TE - UNI5739
35 5050812005 LUBRICATOR - 1/8" GAS
36 5050903001 PLUG - M 10x1 - DIN 906

ARTICLE CODE DESCRIPTION
37 5051007029 DOWEL M10X1X30 P.P. UNI 5924
38 4070113283 STANDARD BLADE - MEC/BALLAST 16500 460X67X7,5
39 4010501044 MANIFOLD C115
40 4010007102 ASP. MANIFOLD C115
41 4010406015 FLANGE FOR ELBOW - D 100
42 4010601186 REVERSING GEAR COVER - BALLAST 16000
43 4010701028 REVERSING GEAR - MANIFOLD C115
44 4010801043 HANDLE
45 4010901020 REVOLVING ALBOW - D 100
46 4012007011 SPRING - MEC 9-11-13500
47 4030109072 MANIFOLD GASKET C115
48 4030110034 ASP. MANIFOLD GASKET C115
49 5030210008 SEAL RING - OR 189 STAR UL
50 5030210083 SEAL RING - D 133.02X2.62 OR3525
51 5030300015 OIL SEAL - 35X50X7 TC
52 5050107054 SCREW - M 10X35 TE - UNI5739
53 5060605005 BLACK PLUG - D 1"1/2 GAS
54 5050107143 GALVANIZED SCREW - M 8X30 TCEI
55 5050207022 WASHER D 8X23X4 - DIN 6340
56 5050207031 TEFLON WASHER REV. GEAR. MEC 9-11-13500
57 5050812001 LUBRICATOR - M 10X1
58 5050903003 PLUG - D 1/8" - DIN 906
60 5060605006 BLACK PLUG - D 2" GAS
61 5050207003 WASHER D 8
126 5050107008 SCREW - M 6X16 TCEI
130 5080005004 AIR FILTER - ONE WAY VALVE 3/4"
131 5040303030 UNIDIRECTIONAL VALVE 3/4" - BALLAST
132 4010007057 DUCT BALLAST 11000-13500
133 4030110028 GASKET DUCT BALLAST 11000-13500
134 5050300016 SELF-LOCKING NUT M 10X1,5 VERGAL
135 5050207008 BLANK WASHER Ø 10X40
136 4012007015 SPRING FOR VALVE BALLAST
137 4011707114 GUIDE FOR VALVE BALLAST
138 4010401082 FLANGE SUPPORT CHECK VELVE - BALLAST 9-13500
139 4010006026 POPPET VALVE - BALLAST 16000



Specialist provider of 
DAIRY EFFLUENT EQUIPMENT
NZ 0800 464 393
nevadagroup.co.nz

AUS 1800 963 490
nevadagroup.com.au


